1. V72=aV2, V300=b6V3 L o, a-b 2] 322

®-2 @- ® 4 @ 6

V72 = V22 x32x2 =62
V300 = V102x3=10V3
" a=6, b=10

L a—-b=-4
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5.

V45 + V80— k V5 =0 & of, §2]4 ko] gH2?

@5 @6 @7 @ 8

3V5+4V5-kV5=0
7V5 = k5
k=7




B, BN, g
(B, b A 29 BdF)

A, a, boll 5t a+b o] FE2?

®-14 @2 ® 4 @6  ©@)s

S5
«/1_—«/§+«/E+«/§: «/ﬂ—2+3x/6+3
V2 V3 2 3

=2\/62_2+\/6+1

=V6-1+V6+1
=26

2v6 = aVbo|ER
La=2,b=6—>oa+b=2_8
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VB (- g + (V-3 o #2157 B o, §2% 0 o

2 10 3
Vix 2o ax 2L yo,- B,
V6 32 V3
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Zj——o—i-Za— V3a
3 3
2 10
= V3(5-a) -5+

2|27} 7] AL § _a=0olmE
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=129 f2ohE o]8sto] tha-2 AlAtsh?
U S SRR
L+V2 2+ V3 3+ VL Vit s

O -1

@ 0 @1
@ 5 (@)«/5—1

‘ V2-14+V3-V2+2-V3+V5-2=1+5-1




the AlF2EoA V5842 Zre gol1, Vb =2352 4w, a+b
e

T 0 1 2 3 4

5.0 | 2.345 | 2,347 | 2,349 | 2.352 | 2.354
5.6 12,366 | 2369 2371|2373 |2.375
0.7 12,387 (2,390 | 2,392 | 2,394 | 2,396
5.8 12,408 | 2,410 | 2,412 | 2,415 | 2,417

@ 7.217 @ 7.548 @7.947 @ 8.132 ® 8.492

~EB ~
V5.84 = 2.417
V5.53 = 2.352
. a=2417 ,b =553
s a+b=2417+ 553 = 7.947




10. A5 p o diste] vn o A4 RES f(n) 22 vepd o, £(1) +
F2)+ fB3) + f(4) +--- + f(10) & = oozt

» £
> =g 19

B

f), f(2), f3) =1

f(4), f(5), £(6), £(7), f(8) =2

f9), f(10) =3
14+1+1+24+2+24+2+2+3+3=19




